AH SL DL
tt(I¢) CR W({v)CR Z(2()CR QCDCR tt(2/)CR W({v)CR tt(2() VR DYCR ttZ CR
™ >1 =0 =0 >1 >1 =0 >1 =1 >1
Miep =1 =1 =2 =0 =2 =1 =2  =2(SF) =3
Mjet >3 >3 >3 >3 >2 >2 >1 >1 >3
p‘T“iSS [GeV ] > 250 > 250 > 250 > 250 > 250 > 250 — — —
My [GeV ] < 140 < 140 — — — > 140 — — —
min A (j; 5, PIMs*) [rad.] >038 — — <08 — — — — —
my, [GeV ] — — [60,120] — — — > 20 — —
|mgy — mz| [GeV ] — — — — — — > 15 (SF) <15 < 10 (OS SF)
mib [Gev] — — — — < 80 < 80 < 80 > 80 —
Included in fit? Yes Yes Yes Yes Yes Yes No Yes Yes




